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Batch 1
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is the President of Afghanistan.
A) Halimah Yacob B) Hamid Karzai C)
Hamid Ansari D) Nawab Shariff

B

Ashraf
Ghani

10-Jul-17

Batch 1

60

What is the nature of Molecular collisions in
gases?
A) Inelastic
plastic

B) Elastic C) Plastic D) In

10-Jul-17

Batch 2

73

Rewrite the following sentences as reported
speech. The Captain said to his men, "Stand
at ease."

A) The Captain wanted his men to stand at
ease.

B) The Captain told his men that they should
stand at ease.

C) The Captain commanded his men to stand
at ease.

D) The Captain urged his men to stand at
ease.

10-Jul-17

Batch 2

27

the first
civilization in ancient India .
A) Harappan B) Vedic C) Indus D) Ancient

was and greatest

Aand C

10-Jul-17
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A) ezzne B) onzgm wg C) eggs D)
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11-Jul-17
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The

Geneva, Switzerland.
A) World Trade Organization B) World
Health Organization (WHO) C) The United
Nations Educational, Scientific and Cultural
Organization (UNESCO) D) United Nations

is headquartered in

A and B




A) electrically erasable
B) effectively erasable
C) easily erasable

D) non-erasable
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9 11-Jul-17 Batch 1 23 2 [ — T WDIOVDS TOINBB BT, RO C C
I, HoPYNeR FowoRAT RS, A) RopRwR 3
B) a’d@%m% O 5@35%%_’3) D) ma’ém@’f)
10 | 11-Jul-17 | Batch1 18 What is the output of execution of following | A B
piece of code? #define prod(a,b) a*b main() {
int x=3,y=4; printf("%d",prod(x+2,y-1));}
A)10 B)15 C)20 D) 12
11 | 11-Jul-17 Batch 2 1 A hexa decimal number 'AO' has the | A The correct
decimal value. answer is
A) 16 B) 80 C) 100 D) 256 160
12 | 11-Jul-17 | Batch2 |90 |3°¥>S S3c IFne Moy WITAdE . | C D
BYNIY, FOBPTTRY, SO~ W3 OWO.
SmyoR8 Oon ————_____
A) 22e3 B) &3 C) 208 D) 333
13 | 11-Jul-17 | Batch2 |40 IT giant Wipro has appointed which of the | A C
following as its new chief executive officer
(CEO)?
A) T K Kurien B) Ireena Vittal C) Abidali
Neemuchwala D) Rishad Premji
14 | 11-Jul-17 | Batch2 |35 Which bank has launched host of digital | C D
banking solutions including green PIN and
enrichment of its mobile app?
A) State Bank of Patiala B) Indian Overseas
Bank C) Punjab & Sind Bank D) Punjab
National Bank
15 | 11-Jul-17 Batch 3 26 Who has been ranked No. 1 in the latest | D A
football rankings announced by FIFA?
A) Germany B) Colombia C) Belgium
D) Argentina
16 | 11-Jul-17 | Batch3 |4 EEPROM is D A




